## APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	JOHN FAHRNEY		Page 1 of 4
Project: RESURF	ACING 2017 - ASPHALT BASE PAT	CHING AND BASE PATCH GRIND	ING
Contract Number:	7797	Payme	nt Number: 2
DO NOT WRIT	E IN THIS BOX - TO BE COM	PLETED BY CITY ENGINEERING PE	RSONNEL ONLY
TOTAL FROM PAGE	:4	171,186	.97
LESS RETAINAGE:		8,559	.35
SUBTOTAL:		162,627	.62
LESS PREVIOUS PA	YMENTS:	133,83	34.90
CURRENT PAYMEN	T DUE:	\$28,792	.72
HL	the current payment is now due.  ACTOR: TRI-COUNTY PAVING	S, INC.	7/6/2017 DATE
The und by this a	IFICATE FOR PAYMENT: ersigned Inspector certifies that to pplication for payment has been of the contractor is entitled to payment TOR	ompleted in accordance with the	
	TIME PERIOD FOR THIS PAYMEN	To	0: 7/11/17 THIS
_	King	RS THAT WORKED ON PROJECT I	OURING THIS PERIOD:
	PAYMENT REQUEST SHALL BE SUE PAYMENTS CAN BE PROCESSED E		ECTOR.

11369-402-200 Mill, Pave & Castings

11369-83-200 Sanitary

11369-86-200 Water

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC. RESURFACING 2017 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING **CONTRACT NO. 7797** 

P	YN	1FN	JT	N	n	2

	ACT NO. 7797 NT NO. 2						İ		l		*****		l
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
11369-4	02-200 Mill, Pave & Castings												
10790	RR INSURANCE	1.00	EA	\$100.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40231	ASPHALT DRIVE & TERRACE	50.00	SY	\$25.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40332	BASE PATCH GRINDING, METHOD 2	8,000.00	SY	\$29.00	\$232,000.00		14.74	\$427.46	1,115.00	\$32,335.00	1,129.74	\$32,762.46	14.1%
40333	BASE PATCH GRINDING, METHOD 3	1,000.00	SY	\$33.00	\$33,000.00		0.00	\$0.00	1.78	\$58.74	1.78	\$58.74	0.2%
40335	BASE PATCH GRINDING, METHOD 5	300.00	SY	\$45.00	\$13,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40351	ASPHALT BASE PATCHING, 3.5" INCH	50.00	SY	\$30.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40352	ASPHALT BASE PATCHING, 5-8 INCH	50.00	SY	\$35.00	\$1,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40353	ASPHALT BASE PATCHING, 8-10 INCH	50.00	SY	\$40.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	50.00	SY	\$45.00	\$2,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	5.00	EACH	\$250.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40501	INFRARED SEAMLESS PATCHING	200.00	SF	\$9.00	\$1,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90001	RR FLAGGING	5.00	HOURS	\$100.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS			•	\$291,300.00		•	\$427.46	•	\$32,393.74	•	\$32,821.20	11.3%
11369-8	3-200 Sanitary												
10790	RR INSURANCE	1.00	EA	\$100.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40231	ASPHALT DRIVE & TERRACE	50.00	SY	\$25.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40332	BASE PATCH GRINDING, METHOD 2	3,000.00	SY	\$29.00	\$87,000.00		88.89	\$2,577.81	0.00	\$0.00	88.89	\$2,577.81	3.0%

\*\*\*\*\*

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

TRI-COUNTY PAVING, INC.
RESURFACING 2017 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING CONTRACT NO. 7797
PAYMENT NO. 2

PATIVIE	N1 NO. 2	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40333	BASE PATCH GRINDING, METHOD 3	300.00	SY	\$33.00	\$9,900.00		0.00	\$0.00	86.67	\$2,860.11	86.67	\$2,860.11	28.9%
40335	BASE PATCH GRINDING, METHOD 5	300.00	SY	\$45.00	\$13,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40351	ASPHALT BASE PATCHING, 3.5" INCH	50.00	SY	\$30.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40352	ASPHALT BASE PATCHING, 5-8 INCH	50.00	SY	\$35.00	\$1,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40353	ASPHALT BASE PATCHING, 8-10 INCH	50.00	SY	\$40.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	50.00	SY	\$45.00	\$2,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	2.00	EACH	\$250.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40501	INFRARED SEAMLESS PATCHING	300.00	SF	\$9.00	\$2,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90001	RR FLAGGING	5.00	HOURS	\$100.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS			•	\$123,350.00			\$2,577.81		\$2,860.11		\$5,437.92	4.4%
11369-8	6-200 Water												
10790	RR INSURANCE	1.00	EA	\$100.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40231	ASPHALT DRIVE & TERRACE	100.00	SY	\$25.00	\$2,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40332	BASE PATCH GRINDING, METHOD 2	12,000.00	SY	\$29.00	\$348,000.00		430.00	\$12,470.00	1,700.00	\$49,300.00	2,130.00	\$61,770.00	17.8%
40333	BASE PATCH GRINDING, METHOD 3	4,000.00	SY	\$33.00	\$132,000.00		78.00	\$2,574.00	800.00	\$26,400.00	878.00	\$28,974.00	22.0%
40335	BASE PATCH GRINDING, METHOD 5	3,000.00	SY	\$45.00	\$135,000.00		116.00	\$5,220.00	665.00	\$29,925.00	781.00	\$35,145.00	26.0%
40351	ASPHALT BASE PATCHING, 3.5" INCH	100.00	SY	\$30.00	\$3,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40352	ASPHALT BASE PATCHING, 5-8 INCH	200.00	SY	\$35.00	\$7,000.00		201.11	\$7,038.85	0.00	\$0.00	201.11	\$7,038.85	100.6%
40353	ASPHALT BASE PATCHING, 8-10 INCH	50.00	SY	\$40.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	50.00	SY	\$45.00	\$2,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	2.00	EACH	\$250.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

\$171,186.97

16.3%

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

\$30,308.12

\$140,878.85

TRI-COUNTY PAVING, INC.
RESURFACING 2017 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING CONTRACT NO. 7797

**CONTRACT TOTALS** 

	NT NO. 2	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40367	ADJUST VALVE CASTING, METHOD #1 - RESURFACING	5.00	EACH	\$200.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40369	INSTALL ADJUSTABLE VALVE BOX RISER	5.00	EACH	\$250.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40501	INFRARED SEAMLESS PATCHING	200.00	SF	\$9.00	\$1,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90001	RR FLAGGING	5.00	HOURS	\$100.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS			•	\$637,300.00		•	\$27,302.85	•	\$105,625.00	•	\$132,927.85	20.9%

\$1,051,950.00